RMB-3 INCLUDES THE FOLLOWING:
(2) BKT2105 RACK MOUNTING EARS ~ (4) M3X6MM PANHEAD SCREWS
{pon
i S
: (2) M3X8MM FLAT HEAD SCREWS
|
jo =

(2) BKT2106 CENTER BRACKET

(2) #6-32 X .375 PANHEAD SCREWS

Sl

© (2) #6-32 NUTS

A\
O
N

) ) M3X6MM PANHEAD SCREW /
— M3X6MM PANHEAD SCREW

#6-32 NUT #6-32 X .375 PANHEAD SCREW

M3X8MM FLAT HEAD SCREW

4 N\ 4 N\
O inn t —~ —~ T mnn t —~ ~ N N
gngunication Neﬁrks i I [ME 3 gn%nication Neﬁrks i I

CemWoerxgy  CWGEIMS Console 9600.N.8.1 CemWoerx g  CWGEIMS Console 9600.N.8.1
Ethemet Products from ComNet MaHGQEd Ethernet Switch Ethemet Products from ComNet Managed Ethernet Switch
O 10MO O O O OO OO O u] O O 10MO O O O OO O O O m] O
Power LNK/ACT Nwact [ 1 Power LNK/ACT nwact [ [
INACTO O O O O O O O O INNACTO O O O O O O O O
E] 7 6 5 4 3 2 1 L S B ™Y P e SR e L P E 7 6 5 4 3 2 1 B S N P e SR e L P
L o1 5] | 8 4 2 L ] (5] | 6 4 2
g J g J

(2) COMNET MODELS CWGE9MS READY FOR
RACK MOUNTING USING RMB-3

4 N\ 4 N\
Q Comnet g&ﬂ\ﬁ.{;m — : SR : SR : T F : . Comnet &mmm —m : SR : SR : T F : — @
O\ oooo /| & O)\ oooo ‘

Communication Networks  cwGE2FESMSPOE Managed Ethernet Switch [ [H[E 3 Communication Networks  cWGE2FEBMSPOE Managed Ethernet Switch [
Console 9600.N.8.1 Console 9600.N.8.1

| —
| —

PEOD O O O OO O O PEOD O O OO O O O
PARO 100MO O O O O O O O O i [[ME%PWRD 100MO0 O O O OO O O ] i i
INNACTO O O O OO O O m] INNACTO O O O O O O O o
1 2 3 45 6 7 8 b It St e 1 2 3 45 6 7 8 B SRS = S o S M
Q Link/Active S 1 3 5 7 LinklActive 1 3 5 7 O
. J o J

(2) COMNET MODELS CWGE2FESBMSPOE READY FOR
RACK MOUNTING USING RMB-3

RMB-3

RACK MOUNTING BRACKETS FOR (2) CWGE9MS OR (2) CWGE2FEBMSPOE




